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QUESTION 1

There is an import workflow and an aggregates workflow. The aggregates need to be recalculated every time new data
is imported.

Which should you use as the first activity of the aggregates workflow?
A. A JavaScript activity that contains the OnReceiveEvent method.

B. A Scheduler activity that runs every 5 minutes.

C. A Signal activity that is called from a PostEvent method.

D. A Jump that is called from another Jump.

Correct Answer: B

QUESTION 2

What is the effect of the following sysFilter when added to a Recipient schema extension?

<sysFilter>
<condition expr="@email |=""/>
</sysFilter>

A. When viewing or loading Recipients in Adobe Campaign, only Recipients with an email address are displayed or
loaded

B. All Web Applications that capture an email address will automatically validate that the field is not empty
C. Only Recipients with email address can be inserted into the database
D. Recipients without email addresses will automatically be executed from email deliveries

Correct Answer: C

QUESTION 3
Workflows are NOT executing anymore. Which module is the root cause for this problem?
A. runwf

B. mta
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C. watchdog
D. wfserver

Correct Answer: A

Reference: https://docs.campaign.adobe.com/doc/archives/en/610/workflow-v6.1-en.pdf

QUESTION 4

Which statement best applies to the following schema?

<srcSchema name="recipient” namespace="cus">
<glement name="recipient”>

<glement label="company” name="company” revCardinality="single"” revLabel="Contact”

target="cus.company” type="link"/>

<felement>
</srcSchema>

A. A L:N relationship to the cus:recipient schema is declared
B. A 1:N relationship to the cus:company schema is declared
C. A 1:1 relationship to the cus:recipient schema is declared

D. A 1:1 relationship to the cus:company schema is declared

Correct Answer: C

QUESTION 5

The header of the email contains these words:
E-mail not displayed correctly? View the Web version
How would you implement the link?

A. Using a link to a responsive version of the email.
B. using a link to the customer\\'s website.

C. Using the mirror page personalization block.

D. Using the optout personalization block.

Correct Answer: A
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